Thie question paper containe 4 printed pages Roll Na

RA. (Hons) (PLIID Feon. (Hone) IX
RA. (Hons,) (Part-111) Examination, 2022

Faculty of Arte)
(Three Yoar Seheme of 102223 Pattern)

(Honours Subject)
ECONOMICS
Paper - IX
(Mathematical Economics)

Time Allowed : Three Hours Maximum Marks : 100
woy - 3 U7 yfrmag W& 100
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No supplementary answer book will be given to any candidate. Hence the candidates should write the
answer precisely in the main answer book only.
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Answer of all the guestions (short answer as well as descriptive) are to be given in the main answer-book
only. Answers of short answer type questions must be given in sequential order. Similarly all the parts
of one question of descriptive part should be answered at one place in the answer-book. One complete
question should not be answered at different places in the answer-book.
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Part-A shall contain question No. 1 consisting of very short type 10 (Ten) questions. The candidate s
required Lo answer each question in 20 words. Part-B shall contain question No. 2 consisting of 3 Five)
guestions The candidate is required 1 answer each question in 100 words. Part-( shall contain 3 cassy
type questions (one from each section) with internal choice.

Attempt Five question in all. All questions of Part-A and Part-B are compulsory while rest 3 question are

to be attempted from Part-C selecting one question from each section. All question carry equal marks
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Part-A/9TT-3HA
Explain the following :

Frfafes = qwem
(1) Utility Function
ST e
(ii) Multi plant monopolist
g Wi T
(ili)  Homogeneous production function.

HAIEY I9RH S oid

(tv)  Solution of game
A F T

(v) What do you mean by Axiom of Consistency?
STH] G F FEA F A AATE 32

(v1) Point of inflection.

Hig fag

(vii)  Define first order difference Equation.
U FY S TR HHIHWT H GG Hifs

(viii) Linear programming

e gt
(ix) Define 2
ai.'q’ﬁ gftenfa hifsul
(%) CJonstant Sum game’
freR 9 @

Part-B/\F-&

Write the properties of Homothetic Utility Function.
rite.

s (EmefeE) ST we ) fogwane fafe)
State the Duality Theorems.
3q yHEl 1 ARl

Write dow

- .gwwmaﬂumamwaﬁmﬁaﬁfﬁﬁm

_0584/3208-IX

ition for constrained cost minimization.
econd order condi
n first and s



h arg 3 N s
4. What are the Implicationg of Hawkine "
AN

R mon Conditions?
RS-V ¥ & srfiwrg %\7
5.  Explain well-behaveq Production Function

Wﬁmw@wm,

Part-C wmr-g

Section-A WUE- 3

6. () Uslogx, +logy! i utility function

commodity purchage.
RISSRRIBG T U = logx, + log
T TR iqeey 50 =2x +3x,
SR TG FIM W Fifoy

W IfU=72L+ 2Ly — 912
Where L
work.
3 U=72L + 2Ly - 212
aﬁLafRyW:wmwm%,ﬁrmémmiﬁwﬁmfﬁm

Or/3gar

4 Prove convexity of indifference curve.
TN I 1 IR 9 SIS
@) U=qf qg is utility function, then derive compensated demand function.
R U=qf ¢} svaifirn e € @ Al =1 9% F frefig st
Section-B/@Us-q
Derive the Input Demand Function and state its properties also.
T2 A %o fEufd Sifse qen et favma saey
Or/zean

(i) Discuss the properties of CES Production Function.
CES 3@ %l &1 fasrwareti &1 fag=mn sifsg

5

(i)  If supply functionisp =2+ %—;— and market price (P) is 3. Find producer's surplus.

aﬁqﬁwp=2+:—;ww F194 (p) 3 T 0 INEF 94w FA

V-0584/3208-IX 3

and budget constraint is 50 = 2%, + 3x,. Find optimum

10

and y are leisure and income respectively. Then obtain labour supply function for

10

10

14

6
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Section-(/@ATE Y

8. Solve the following problem by Simplex Method

fog teta grfiin guoen %1 g fardan ff 9 e

Max 7 = 24x, 48,
wfersam
Subject to Dy, 48y, <40

UlRER] 4y, 4 v, <20
102, + Sxy <60

X. 1520
Or/319ar
(19 Given
e B % :
Qdt =200 - 0.4 Pt
Qst =—-40 + 0.6 Pt-1
P, = 260
Find the market price and equilibrium price. Obtain the time path and interpret it.
IER FH 7Y FGoH 199 TG HIC 99 99 FG HIGC o1 SHF fgEw HifAu)
£y Given the technical matrix A and final demand vector F
WEXH ISP
Find the gross output level for each sector and inter industry demand matrix.

afe FFATE Afzam A 991 #Af9 A 99 F 1 9K @

02 02 [40

A‘[m o.z] F‘[%s]

YO 63 F1 9% IR 99 =R & [ dfeey 6 Fi
Qaaa
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Write your roll number on question paper before start writing answer of questions.
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No supplementary answer book will be given to any candidate. Hence the candidates should write the

answer precisely in the main answer book only.
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Answer of all the questions (short answer as well as descriptive) are to be given in the main answer-book
only. Answers of short answer type questions must be given in sequential order. Similarly all the parts

of one question of descﬁptive part should be answered at one place in the answer-book. One complete
question should not be answered at different places in the answer-book.
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No. 1 consisting of very short type 10 (Ten) questions. The candidate 1s

shall contain question No. 2 consisting of 5 (Five)
3 eassy

Part-A shall contain question

required to answer each question in 20 words. Part-B
te is required to answer each question in 100 words. Part- C shall contain

questions. The candida
from each section) with internal choice.

Attempt Five question in all. All questions of Part-A and Part-B are compulsory while rest 3 question are
to be attempted from Part-C selecting one question from each section. All question carry equal marks:

type questions (one

P.T.O.
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Part-A/9T1-3A
2x10=2(

) 8 Explain the following :
frafafaa &) gueeo
(i) What is sustainable development?
uFa famm w0 #7
(11) What is plan holiday?
we e # R0
(iii)  What is Gini Coefficient?
frt qoniE F R
(iv)  What is HDI?
THELHE 87
(v) Who gave big push theory?
fan qw <A feem &2
State the economic factors of economic growth.

(1)

afefs gfg & wfdF FEH H Ioor@ Hitul
Give names of two economists who developed the concept of human development index.

Wmmﬁmﬁﬁmmaﬁaa’mﬁﬁémwl

(vi1)

(viii) Who gave critical minimum effort theory?

(ix)  What do you mean by NPV?
gaq.EL | Al qugd &7

(x) State two characteristics of an under developed country.

W?ﬂ%‘la‘lmamt

26/3208-X1



Part-B/4am-H
Wwrite a short note on National Development Agenda.
g fa®E usE w7 ua wiga fromh fafa)
3. What is Kuznet's hypothesis? Explain
FAAeH ufiwean @0 27 )
4 Write a short note on physical quality of life index.
Haq gEFF 1 dfqE qEw wovE diaa fromft feafe
Write short note on Internal Rate of Return.

wfawa #1 Aafa 21 1 wiaa fromft fafa)

) |

61 Briefly compare Harrods model of economic growth with Domar's model.

S F WEA ¥ W A fawm % siEd utza # man § e )

Part-C/911-A
Section-A/@TZ-A
7. Elaborate on characteristics of Developing Countries. 20
Or/ZAAgar
Explain the various impediments (obstacles) to development, also suggest the remedies.
fawm 1 @/ 3 fafa= sl 1 =amen #+3d ge sud 91 gEEn)
Section-B/@Us-&

. Write short notes on the following : 10+10
frafafaa o dfaa aeg fafe .
(a) Investment Criteria
(b) Cost Benefit Analysis

“ANE A9 F1 faveq

Or/31gqen

Explain the Lewis Model of economic growth through unlimited supply of labours.

wﬁmmammaaﬁmmaq@maﬁwmn
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Section-C/@Us-H xB%
Xa ‘
9. Write short notes on the following : 10+10 pxy *F
frefafea w fewfoE fafay 10 ¥
-,X’
(a) Capital Output Ratio &
gsft-Seare I '
(b) NITI Aayaog 0
5
Hfq T NS
A=
Or/319at
Di . detai N
iscuss in detail the relevance of economic planning in India, its objectives and strategy for
development. 920 $ ¥,
i . ¥
e T i e @ W, Ee vawd SR feehrd ot AT i fEE g ==t it
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Y
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'Pe questions (one from each section) with internal choice.

‘tempt Five question in all. All questions of Part

-A and Part-B are compulsory while rest 3 question are
be attempted from Part-C selecting one questi

on from each section. All question carry equal marks.
Part-A/9T-37

(1) What is “Applied Econometrics™?
“Applied” #4fafa =1 27
(11)  Define “Stochastic” variables.
“Stochastic” 90 &1 qftarfog Fifsm|
(i1i) What do you mean by “Statistical Inference”™
“Statistical Inference” 4 #19 #41 gqAd &7

(iv) What is Estimator?

588/3208-X11-B e



“Estimator” 31 22

(v) State the significance of OLS method.

0% OLs fafir = Tl =

J_“Y (vi) Give the full form of “BLUE.”

AcY “BLUE” &1 QU TW&&Y §di3u]

50 (vii) Define “2-t Rule of Thumb”.

fion «9_t Rule of Thumb” &1 gftsnfya ifSu)

’*( (viii) What is meant by P value?

B P value § #71 3199 2?2
(ix) Which model is named as “Constant Elasticity Model.”

\ i @ s "R e wew” & W A T W 2
(x) Distinguish between Type I and Type II error.

= Type I T8 Type II & Heg fauig T SIS

’ Part-B/¥TT-%

A

. 1 ics” i nomics?
2. Why there is a need to introduce separate discipline named “Econometrics” in Eco

sisfemes T “orelfify” A Q e fawa w1 A F R F G
3. Differentiate between Statistical versus Deterministic relationship.
Statistical T8 Deterministic "8l H fasg T HIfST
4. Briefly explain the concept of PRF and SRF (with the help of example)
PRF U4 SRF faumrym ﬁﬁwﬁﬁwﬁaﬂﬁn (3<TET01 & HEH H)
State the significance of the Stochastic Disturbance term.
IS qTeT =X HT Hiefehdl i TR

O

6. Briefly elucidate the functional forms of Regression Models.
AT died & fafq= FrEics wors Wedl &l Gitd o fawga st

Part-C/HT -9
Section-A/@US-3H
7. Write a short notes on the following :
freAfafaa w dfaa 9 feoaforat
(1) Type of Data
GHFl & JEN

(ii) Measurement scale of the variable

7.0588/3208-X11-B 2



IR I IR B
o;
or g
Briefly discuss the met, hodology of Econometrics.

wmﬁmﬁfﬂﬁﬁmﬁﬁﬂwaﬁfﬁw

Section-B/@uvs-&

Explain the concept of Hypothesis testing using the confidence interval approach and the test of

significance approach.

qftered W ® faurum w5y T FIfSY (Confidence Interval T test of significance Zfe®m
gR1)

Or

Write a short notes on the following :
frAfafad w gftrg femforsy fafem
1) Point and Interval Estimation

% &Ik st smmm
(i) One Tail and Two-Tail Test

T 95 3R A Yz e
Section-C/@ug-g

Given the following model y, =B, + B, x + M, derive the OLS estimators and also state the
properties of ordinary least square method.

frefafad afea o fRu B BN W, ¥, =B+ B, x, + . OLS estimators &l I HifS, WY &€ OLS
fafy =t forivae T wifs)

 Or
Define Gauss Markov theorem and derive the Blue properties of Least Square Estimators.
(given the model y, = B, + B, X + 1)

Gauss Markov Y99 &l GRWIfA FINW Least Square Estimators 31 Blue fotsamstil =t o=
s

Qaa
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Write your roll number on question paper before start writing answer of questions.
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No supplementary answer book will be given to any candidate. Hence the candidates should write the

answer precisely in the main answer book only.
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Answer of all the questions (short answer as well as descriptive) are to be given in the main answer-book
only. Answers of short answer type questions must be given in sequential order. Similarly all the parts
of one question of descriptive part should be answered at one place in the answer-book. One complete
question should not be answered at different places in the answer-book.
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Part-A shall contain question No. 1 consisting of very short type 10 (Ten) questions. The candidate is
required to answer each question in 20 words. Part-B shall contain question No. 2 consisting of 5 (Five)
questions. The candidate is required to answer each question in 100 words. Part-C shall contain 3 eassy
type questions (one from each section) with internal choice.

Attempt Five question in all. All questions of Part-A and Part-B are compulsory while rest 3 question are

to be attempted from Part-C selecting one question from each section. All question carry equal marks.
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part-A/9TT-3
onsi'sti; 1. Explain the following :
port
st frafafad w1 remEy
, que
(1) Define Quasi Public Goods.
q“gs? s ardaf wwgan &1 TR feafa
ne 4
- atfd (i) Define Displacement Effect.
RA fyrogd ware & gRsafya IS
gl
-3 (iii)  Define Optimal Budget.
al ST S 1 qfefd S
. (i g

juet (iv)  What is Canon of Benefit according to Prof. Findlay Shirras’
g7

’ 4. frmest o & SER 9 1 A P E?

(v) What is a Tax?

" A R?
& (vi)  Define Fiscal Policy.

SRINTg Hifa i i fafe
(vii) What is Public Debt?
gt %/ Y FEd €7
(viii) Define GST.
S1.TE.dr. & gikam fafey)
(1x)
S5 TER % =7 % w5 9% ged i F fFen e e
(x) What is Deficit Financing?
o2 %1 faq R H F FEd €7
Part-B/9T-9
2. (i) What is Wagner's Law?
TR #1 fagr 7 &7
Explain the principle of Maximum Social Advantage given by Dalton.
2reed g yfauifed sifesmad wifos o9 & fagra it sqrem sifsm)

(i1)

V-0585/3208-X

Write down the four main categories of the expenditure of the Central Government.




(it w e din i e Canon of Taxation given by Adam Smjt}
y A h.

@Mamﬁqu%mﬁwl
i Explain the Balanced Budget Multiplies,
F T T F e i
) Write down the major trends in Pyblje Expenditure in India.
e 5 T 7 ) e g e,
Part.C/um-g
Section-Af@UE-eﬁ
g Explain the nature and scope of Pub]ice Finance.
mmﬁmwﬁmﬁmﬁwﬁm|
(40
Or/agar
Write a short notes on the following:
freAfafed R Higa feufiry fefem .
i) Wiseman Peacock Hypothesis
A -Thieh Tiehe

(i)  Difference between Private and Social Goods.
frsit o s awge § amw AR

Section-B/@uzs-§

( 4, scuss the Shifting of Taxation under monopoly and perfect competition.

qasrfwafnwsrmﬁﬁmﬁmﬁaﬁqﬁwmu
Or/stera
Write a short notes on the following :
Fefafen w wfaa & fewfr fafan
( a). Compensatory fiscal policy
o TRy i
(b)  Effect of taxation on production

FARIU ] IART TGS
V-0585/3208.x 3
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5.
development.

s fomra I e

Discuss the recent

m&—eﬁnﬂm@’a@

. h=k5/3208-X

Explain the usefulnes

Section-C/'@'UE -9

s and limitations of Deficit Financing for promotin

ﬁ%mqﬁﬁm'mﬁwwmammaﬁmvavhaﬂml

Or/31gan

trends in internal and external Debt of India.

Wﬁgﬁﬁﬁﬁmaﬂﬁm

aad
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